Anmatbl (7273)495-231
AHrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop, (4722)40-23-64
BnaroBelueHck (4162)22-76-07
BpsHck  (4832)59-03-52
BnagmBocTok (423)249-28-31
BnagukaBkas (8672)28-90-48
Bnagumup (4922) 49-43-18
Bonrorpag (844)278-03-48
Bonorpga (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89

V15A, V18A Standard pressure control

WreBck (3412)26-03-58
MBaHoBO (4932)77-34-06
MpkyTck (395)279-98-46
KasaHb (843)206-01-48
KanuHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KvpoB (8332)68-02-04
KonomHa (4966)23-41-49
KocTtpoma (4942)77-07-48
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
Nuneuk (4742)52-20-81

Knprusuna (996)312-96-26-47

MarHutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
Hab6epexHble YesnHbl (8552)20-53-41
HwxHwuii HoBropopg, (831)429-08-12
HoBoky3HeLk (3843)20-46-81
Honbpbck (3496)41-32-12
HoBocun6upck (383)227-86-73
Hos6pbcek (3496)41-32-12

Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16
MeTpo3aBogck (8142)55-98-37
MckoB (8112)59-10-37

Poccus  (495)268-04-70

https://kompass.nt-rt.ru || kaf@nt-rt.ru

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PasaHb (4912)46-61-64
Camapa (846)206-03-16
CapaHck (8342)22-96-24
CaHkT-MNeTepbypr (812)309-46-40
CapatoB (845)249-38-78
CeBacTonosnb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CMmoneHck (4812)29-41-54
Coun (862)225-72-31
CraBpononb (8652)20-65-13
ChbIKTbIBKap (8212)25-95-17
CypryT (3462)77-98-35
Tam6oB (4752)50-40-97

KazaxcTaH (772)734-952-31

[MopLHeBbIe HAaCOCbl NMepemMeHHOW
npousBoanTesibHOCTU A-3 cepun V

INC.

VISA, V18AStandard pressure control (SAE A 2 bolt) Please following order code no.12
LENMONNN—0o0o000

V15G, V18G Remote pressure control

INC.

Teepb (4822)63-31-35
Tonbatu (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnaH-Y g3 (3012)59-97-51
YnbaHOBCK (8422)24-23-59
Ycha (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapbl (8352)28-53-07
Yensi6uHck (351)202-03-61
Yepenosel, (8202)49-02-64
Yuta (3022)38-34-83

AKyTCcK (4112)23-90-97
fApocnaenb (4852)69-52-93


https://kompass.nt-rt.ru
mailto:kaf@nt-rt.ru

Dimension

V15HL, V18HL Load-sensing control

Low pressure

V15B, V18B Multi-stage flow & Single-stage pressure (Remark : Install with A type control)
control (with cylinder) O

INC.

V15C, V18C 2-stage pressure & Flow control



Dimension
V15CG, V18CG 2-stage pressure & Flow control + Remote

V15CR, V18CR 2-stage pressure & Flow control + Low tension unloading

V15D, V18D Low tension unloading + Pressure control

2-M12xP1.75



Dimension

V15DG, V18DG Low tension unloading + Pressure control + Remote

V15E, V18E Electric 2~stage pressure control

V15EG, V18EG Electric 2-stage pressure control + Remote



Dimension

V15F, V18F Electric 2-stage pressure control & Flow control

V15FG, V18FG Electric 2-stage pressure control & Flow control + Remote e

V15GM, V18GM Remote pressure compensator with NG6 interface

NG6



Dimension

V15GJ, V18GJ Remote pressure compensator + Proportional pressure valve

V15GR, V18GR Remote pressure compensator + Electrical unloading

V15GB, V18GB Remote pressure compensator + 2-stage pressure control



Dimension

V15GC, V18GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

V15HQ, V18HG Load-sensing compensator + Proportional flow valve+ Relief valve Low pressure

V15HK, V18HK Load-sensing compensator + Proportional pressure valve+ Proportional flow valve

Low pressure
adjustment



Dimension

V15, VI8 Thru drive (SAE AA 050.8, code C )
Thru drive (SAE A 082.55, code D )

WBWWWLWULW —O0[£)00
O[1KOI MM M—1ronri

Type A B C CG CR D DG E EG F FG G Gl GM HL HK  HQ
Q lhru drive option o 0 0 0 0 0 O o 0 0 O
V15, V18 Splined shaft type V15, V18 Inlet/Outlet
Outlel inlet Inlet

Threads code Threads code
10:PT(RC1 3/4" 10:PT{RC) 3/4”
40:BSPP(G) 3/4" 40:BSPP(G) 3/4"
soinpt 50:NPT 3/4”

S: 13T DP16/32 S: 11T DP16/32  S1: 9TDP16/32



Dimension

V23A, V25A Standard pressure control

V23G, V25G Remote pressure control

Remote pressure port: PT 1/4

V23HL,V25HL Load-sensing control

Load sensing port:PT 1/4



Dimension

V23B, V25B Muti-stage How & Singe-stage pressure control (with cylinder)

V23C, V25C 2-stage pressure & Flow control

V23CG, V25CG 2-stage pressure & Flow control + Remote

Remote pressure port: PT 1/4 INC.



Dimension

V23D, V25D Low tension unloading + Pressure control

INC-SHLL|

V23DG, V25DG Low tension unloading + Pressure control + Remote

INC,



Dimension

V23E, V25E Electric 2-stage pressure control

INC.

V23EG, V25EG Electric 2-stage pressure control + Remote

INC.

V23F, V25F Electric 2-stage pressure control & Flow control

Solenoid control valves INC.



Dimension

V23FG, V25FG Electric 2-stage pressure control & Flow control + Remote

Solenoid control valves

V23GM, V25GM Remote pressure compensator with NG6 interface

NG6

V23GJ, V25GJ Remote pressure compensator + Proportional pressure valve



Dimension

V23GR, V25GR Remote pressure compensator + Electrical unloading

V23GB, V25GB Remote pressure compensator + 2-stage pressure control

V23GC, V25GC Remote pressure compensator + Electrical unloading + 2-stage pressure control



Dimension

V23HQ, V25HQ Load-sensing compensator + Proportional flow valve + Relief valve

Low pressure

V23HK, V25HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

Low pressure
adjustment

V23, V25 Thru drive(SAE A 082.55, code D)
Thru drive(SAE B 0101.6, code E)

BJU/IJ [ IEI'DIBLEUD?!I]'IDHD o 6 T ST

1t3.5



Dimension

V23, V25 Rear port f Please flowing order code no.6ladd"B” )

V23, V25 4 Connections for rear port ( Please flowing order code no.6,add"B2" )

Type A 8 Cc CG D DG E EG F FG G GJ GM HL HK
O Axial port option O O 0 O O O
V23, V25 Splined shaft type V23, V25 Inlet/Outlet
Outlet Inlet
Threads code Threads code
10 PT(RC) 3/4* 10 PT(RC) I
40 BSPP(G) 3/4" 40 BSPP(G) I

50 NPT 3/4" 50 NPT T



Dimension

V38A, V42A Standard pressure control

INC.

V38G, V42G Remote pressure control

V38HL, V42HL Load-sensing control

Load sensing port: PT 1/4



Dimension

V38B, V42B Muti-stage flow & Singe-stage pressure control (with cylinder)
(Remark: Install with A type control)

V38C, V42C 2-stage pressure & Flow control

V38CG, V42CG 2-stage pressure & Flow control + Remote

Low flow INC.



Dimension

V38CR, V42CR 2-stage pressure & Flow control + Low tension unloading

Low flow INC,

V38D, V42D Low tension unloading + Pressure control

V38DG, V42DG Low tension unloading + Pressure control + Remote



Dimension

V38EG, V42EG Electric 2-stage pressure control + Remote

Solenoid control valves Filling port INC.

V38F, V42F Electric 2-stage pressure control ss Flow control

Solenoid control valves-



Dimension

V38FG, V42FG Electric 2-stage pressure control & Flow control + Remote

NG6

V38GJ, V42GJ Remote pressure compensator + Proportional pressure valve



Dimension

V38GR, V42GR Remote pressure compensator + Electrical unloading

V38GB, V42GB Remote pressure compensator + 2-stage pressure control

V38GC, V42GC Remote pressure compensator + Electrical unloading + 2-stage pressure control



Dimension

V38HQ, V42HQ Load-sensing compensator + Proportional flow valve + Relief valve

Low pressure adjustment

V38HK, V42HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

V38 V42 Thru drive (SAE A 082,55,code D)
Thru drive (SAE B 0101.6,code E)

[VJHlODLOD—DDODD Type A B C CGCR D DG E EG F FG G GJ GM HL Hk HQ

nanumumion—=rnon °* ° ceee  peeees



Dimension

V38, V42 Rear port { Please following order code no.6,add"B” )

oO®OoOooMo—moooOnd

V38, V42 4 connections for rear port ( Please following order code no.6,add"B2" )

Type A B

O Axial port option O (0]

V38, V42 Splined shaft type

c CG

O O

D

DG

e EG

V38, V42 Inlet/ Outlet

Outlet

30.2,

10 : PT(RC) 1"
40 :BSPPtG) I
50 :NPT I

FG

O O O O

32

GM HL  HK

O O

Inlet

30,2 .

Threads code

10: PT(RC) 1-1/4"
40 : BSPP(G) 1-1/4"
50 : NPT 1-1/4"

32

1135



Dimension

V50A, V70A Standard pressure control N
V A

INC-

V50G, V70G Remote pressure control

Pressure adjustment

V50HL, V70HL Load-sensing control

Low pressure adjustment



Dimension

V50B, V70B Muti-stage flow & Singe-stage pressure control (with cylinder)
(Remark;Install with A type control)

INC.

V50C, V70C 2-stage pressure & Flow control
V50CG, V70CG 2-stage pressure & Flow control + Remote

INC.

V50CR, V50CR 2-stage pressure & Flow control + Low tension unloading

INC.



Dimension

V50D, V70D Low tension unloading + Pressure control
V50DG, V70DG Low tension unloading + Pressure control + Remote

V50E, V70E Electric 2-stage pressure control
V50EG, V70 EG Electric 2-stage pressure control + Remote

V50F, V70F Electric 2-stage pressure control & Flow control
V50FG, V70 Electric 2-stage pressure control & Flow control + Remote



Dimension

V50GM, V70GM Remote pressure compensator with NG6 interface

NG6

V50GR, V70GR Remote pressure compensator + Electrical unloading



Dimension

V50GC, V70GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

V50HG, V70HQ Load-sensing compensator + Proportional flow valve + Relief valve

Low pressure

1335

100



Dimension

V50HK, V70HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

V50, V70 Thru drive (SAE A 082.55, SAE B 0101.6, code D or E)

VMo o OO0 —OO[£]O00
O [soDpOoOoo—oo[lloo

Type A B C CR CG D DG E EG F F6 G GJ GM

HL

HK

HQ

O Thru drive option O O o O O 0 0 O O O O

133,55

100 [



Dimension

V50, V70 Rear port (Please following order code no,6 add “B”)

goood
Intel Outlet
Threads code Threads code
10 ;PT{RC) 1-1/2" 10 : PT(RC) 1-1/4"
40 : G 1-1/2" 40 : G 1-1/4"
50 : NPT 1-1/2” 50 : MPT 1-1/4"
Type A B C CrR ¢cG D DG

0 Thru drive option O O O O O O O

V50, V70 Splined shaft type

S: 14T DP12/24

V50, V70 inlet i outlet

HL

HK HQ



Pump combination

Pump 1
Pump 2

N<X2<cH0womO 19zZzTrXa—-IOGMMmMmOoOTwD>>

> > > > > > > > >
© N 0PN P

VIS(V18)
VIS(V18)
G 3/8"
G 3/8"
57,45
35.1
35.1
35.1
35,1
M8x20
(48x20
147
147
332
382
48
48
6
4.76x32
13
019.05
21.15
082,55
025
025
106
131
165
44
31,2
5
84
11
445
160
91.5
60

V23 (V25)
V1S(v18)
G 3/8"
G 3/8"
57.45
35.1
35,1
52,4
26,2
148x20
Mioxie
147
170
369
419
48
51
9
6.35x40
14
022.22
25.08
0101.6
025
025
146
146
182
39
31.2
5
110
13.5
58.5
193
93
68

Pump 2

V23 (V25)
V23 (V25)
G 378"
G 378"
61
52.4
26.2
52.4
26.2
Mioxie
1410x16
170
170
402
455
51
51
9
6.35x40
14
022.22
25.08
0101.6
025
025
146
146
182
39
31.2
5
110
13.5
58.5
193
93
68

V38(V42)
VIS (V18)
G 3/8"
G 172"
57.45
35,1
35.1
58,7
30,2
M8x20
1410x16
147
179
378
428
48
51
9
6.35x40
145
022.22
25.08
0101.6
031
031
146
160
198,6
39
31.2
5
121
13.5
58.5
210
113,5
72

V38 (V42)
V23(V25)
G 3/8"
G 1/2"
61
52.4
26,2
58,7
30.2
1410x16
(410x16
170
179
401
454

51
9
6.35x40
14.5
022.22
25.08
0101.6
031
031
146
160
198.6
39
31.2
5
121
13.5
58.5
210
113.5
72

Pump 1

V38(V42)
V38 (V42)
G 172"
G 1/2"
73
58,7
30,2
58,7
30,2
1410x16
(410x16
179
179
410
465
51
51
9
6.35x40
145
022.22
25.08
0101.6
031
031
146
160
198,6
39
31.2
5
121
135
58.5
210
113.5
72

V50(V70)
V15(V18)
G 3/8"
G 3/4"
57.45
35.1
35.1
69.9
35.7
(48x20
1412x25
147
256.5
464
515
48
73
10
7.94x45
24
031.75
35.35
0127
038
038
181
208
261.5
74
40
8
119
18
57
233.5
133.5
100

V50(V70)
V23 (V2S)
G 3/8"
G 3/4"
61
52,4
26.2
69,9
35.7
1410x16
1412x25
170
256.5
493
546
51
73
10
7.94x45
24
031.75
35.35
0127
038
038
181
208
261.5
74
40
8
119
18
57
233.5
133.5
100

V50 (V70)
V38 (V42)
G 1/2"
G 3/4"
73
58.7
30,2
69.9
35.7
(410x16
(412x25
179
256.5
502
555
51
73
10
7.94x45
24
031.75
35.35
0127
038
038
181
208
261,5
74
40
8
119
18
57
2335
133.5
100



Pump combination - coupling

No

151

231

23-3A
235

23-6

23-3B

381
38-3A

38-5

38-6

38-7
38-3B
38-4
70-1
70-3A
70-5

70-6

70-7

70-3B
70-4

Pump 1
Model

V15.v18

V23, V25

V38. V42

V50, V70

Model
Piston pump: V15-18, AR16-22
Gear pump: HGP-3A
Piston pump: V15-18, AR16-22
Gear pump: HGP-3A
Vane: F30,F4G,PV2R1
Piston pump: V23-25
Vane pump: T6C

Vane pump: T6C

Gear pump: HGP-3A

Piston pump: F30,F40,PV2R1
Piston pump: V23-25, V38-V42
Vane pump: T6C

Piston pump: PV016-023
Vane pump: PV2R2

Piston pump: V15-18, AR16-22
Gear pump: HGP-3A

Vane pump: F3G,F40,PV2R1
Piston pump: V23-25, V38-V42
Vane pump: T6C

Piston pump: PV016-023

Vane pump: PV2R2

Pump 2
0A

SAE 0 82.55

SAEA 082.559T
Vane pump 095.02

SAE B 0101.6
Metric 0100

SAE A 082.55
Vane pump 095.02

SAE B 0101.6
Metric 0100

SAE A 082.55
Vane pump 095.02

SAE B 0101.6
Metric 0100

0A
SAE A 082.55
Vane pump 095,02
SAE B0101,6
Metric 0100

Shaft
9T 16/32 DP

9T 16/32 DP

13T 16/32 DP
Cylindric 019.05*4.76
Cylindric 022.22*6.35
Cylindric 022.22*4.76
13T 16/32 DP

9T 16/32 DP

13T 16/32 DP
Cylindric 019.05*4.76
Cylindric 022.22*6.35
Cylindric 022.22*4.76
Cylindric 025.4*6.35
13T 16/32 DP

15T 16/32 DP

9T 16/32 DP

13T 16/32 DP
Cylindric 019.05*4.76
Cylindric 022.22*6.35
Cylindric 022.22*4.76
Cylindric 025.4*6.35
13T 16/32 DP

15T 16/32 DP

© Adapter
23A-83-D
23A-83-G
23A-83-E
23A-83-J

©Coupling

COUP-V15+15

COUP-V23-1
COUP-V23-3

COUP-V23-5

COUP-V23-6

COUP-V23-3
COUP-V38-1
COUP-V38-3
COUP-V38-5

COUP-V38-6

COUP-V38-7
COUP-V38-3
COUP-V38-4
COUP-V70-1
COUP-V70-3
COUP-V70-5

COUP-V70-6

COUP-V70-7
COUP-V7Q-3
COUP-V70-4

© O-rinq
G80
G95
G100
G100



Pump combination - coupling parts

Depending 2nd pump to use snhap ring or not
{¢ : With snap ring)

©Coupling ©Snap ring ) ©Screw
Piston pump: Gear pump: HGP- Vane pump: F30,
V15-18, AR16 3A F40
COUP-V15+15 R13 . . . -
COUP-V23-1 R13 . * -
COUP-V23-3 R20 # -
COUP-V23-5 R20 . M5x8
COUP-V23-6 — M5x8
COUP-V38-1 R13 ° ° -
COUP-V38-3 R20 . -
COUP-V38-4 - -
COUP-V38-5 R20 . M5x8
COUP-V38-6 — M5x8
COUP-V38-7 — M5x8
COUP-V70-1 R13 . . -
COUP-V70-3 R20 . -
COUP-V70-4 - —
COUP-V70-5 R20 + M5x8
COUP-V70-6 — M5x8
COUP-V70-7 -- M5x8
© O-ring G55
©Pin 08x16 x2 nos

©Screw M8x30 x4 nos



Pump combination - thru drive dimesion

V15.V18

V23-V70
Model K H J M L L2
vi5Vv18 33 135 9T 16/32DP - 185 -
V23.V25 59 135 9T 16/32DP 32 237 205
V38.V42 66 20 14TM125 32 241 209

V50,V70 64,4 22 131 16/32DP 32 332 300



Pump combination - thru drive dimension

View A
Pump 1V15, Pump 2 V15

View B
Punpl V23-V70, Pump 2 V15-V38



Pump combination - thru drive dimension

Pump 1 Pump 2
V15.v18 V15.V18
V23V25 V15.V18
V23.V25 V23.V25
V38.v42 V1518
V38.v42  V23.V25
V38.v42  V38.v42
V50.v70 V15.V18
V50.V70 V23.v25
V50.V70 V38.v42

Pump 1 Pump 2
V15.V18 V15.V18
V23.v25 V15.V18
V23.v25 V23.V25
V38.v42 V15.V18
V38.v42  V23.V25
V38.v42 V38.v42
V50.v70 V15.V18
V50.v70  V23.V25
V50.v70  V38.v42

Pump 1 Pump 2
V15.v18 V15.V18
V23.Vv25 V15.V18
V23.V25 V23.V25
V38.v42 V15.V18
V38.v42  V23.V25
V38.v42  V38.v42
V50.v70  V15,vV18
V50.V70  V23.V25
V50.v70  V38.v42

Anmartbl (7273)495-231
AHrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04

A
G 3/8" (RC 3/8")
G 3/8" (RC 3/8")
G 3/8" (RC 3/8")
G 3/8" (RC 3/8")
G 3/8" (RC 3/8")
G 1/2* (RC 1/2")
G 3/8" (RC 3/8")
G 3/8" (RC 3/8")
G 1/2" (RC 1/2")

J K
147 147
147 170
170 170
147 179
170 179
179 179
147  256.5
170  256.5
179  256.5

\Y W

025 025
025 025
025 025
031 031
031 031
031 031
038 038
038 038
038 038

B C D E
G3/8"(RC3/8" 5745 31 351
G 3/8" (RC 3/8") 5745 351 351
G 3/8" (RC 3/8") 61 524 26.2
G1/2"(RC 1/2) 5745 351 351
G 1/2" (RC 1/2%) 61 524 26.2
G 1/2" (RC 1/27) 73 58.7 30.2
G 3/4" (RC 3/4") 5745 351 351
G 3/4" (RC 3/4") 61 524 26.2
G 3/4" (RC 3/4") 73 58.7 30.2
L LA LB M N (0] P
332 185 - 382 48 48 6
384 237 32 411 48 &1 9
407 237 32 455 51 51 9
388 241 32 438 48 51 9
411 241 32 464 51 51 9
420 241 32 473 51 51 9
479 332 32 529 48 73 10
502 332 32 555 51 73 10
511 332 32 564 51 73 10
X Yy 2 Al A2 A3
106 131 165 44 312 5
146 146 182 39 312 5
146 146 182 39 312 5
146 160 1986 39 312 5
146 160 1986 39 312 5
146 160 1986 39 312 5
181 208 2615 74 40 8
181 208 2615 74 40 8
181 208 2615 74 40 8

WkeBCK (3412)26-03-58

VMBaHoBO (4932)77-34-06

VipkyTCK (395)279-98-46
KazaHb (843)206-01-48

MarHutoropck (3519)55-03-13
MockBa (495)268-04-70

MypmaHck  (8152)59-64-93
HabepexHble YenHbl (8552)20-53-41

F G H I

351 351 M8xP1.25x20 M8xP1.25x20
524 26.2 M8xP1.25x20 M10xP1.5x16
524 26.2 M10xP1.5x16 M10xP1.5x16
58.7 30.2 MB8xP1.25x20 M10xP1.5x16
58.7 30.2 M10xP1.5x16 M10xP1.5x16
587 30.2 M10xP1.5x16 M10xP1,5x16
69.9 357 MB8xP1.25x20 M12xP1.75x25
69.9 357 MI10xP1.5x16 M12xP1.75x25
69.9 357 M10xP1.5x16 M12xP1.75x25
Q R S T U

4.76x32 13  019.05 21.15 082.55

6.35x40 14 022.22 25.08 0101.6

6.35x40 14 022.22 25.08 0101.6

6.35x40 145 022.22 25.08 0101.6

6.35x40 145 022.22 25.08 0101.6

6.35x40 145 022.22 25.08 0101.6

7.94x45 24 031.75 35.35 0127

7.94x45 24 031.75 35.35 0127

7.94x45 24 031.75 35.35 0127

A4 A5 A6 A7 AS A9

84 n 445 160 91.5 60

110 135 585 193 93 68

110 135 585 193 93 68

121 135 585 210 113.5 72

121 135 585 210 113.5 72

121 135 585 210 1135 72

119 18 57 2335 1335 100

119 18 57 2335 1335 100

119 18 57 2335 1335 100

Mepmb  (342)205-81-47

PocTtoB-Ha-[loHy (863)308-18-15

PasaHb (4912)46-61-64
Camapa (846)206-03-16

TBepb (4822)63-31-35
TonbaTn (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87

BapHayn (3852)73-04-60
Benropop, (4722)40-23-64
BnaroselueHck (4162)22-76-07
BpsHck  (4832)59-03-52
BnaguBocTok (423)249-28-31
BnagukaBka3 (8672)28-90-48
Bnagumup (4922) 49-43-18
Bonrorpag (844)278-03-48
Bonorpga (8172)26-41-59
BopoHex  (473)204-51-73
Ekatepn HOypr (343)384-55-89

KanuHunHrpag (4012)72-03-81

Kanyra (4842)92-23-67

KemepoBo (3842)65-04-62

Knpos (8332)68-02-04

KonomHa (4966)23-41-49
KocTtpoma (4942)77-07-48
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61

Kypck (4712)77-13-04
KypraH (3522)50-90-47

Nuneuk (4742)52-20-81

Kuprususa (996)312-96-26-47

HwxHWiA HoBropog, (831)429-08-12
HoBoky3HeLk (3843)20-46-81
Hosi6pbcek (3496)41 -32-12
HoBocunb6upck (383)227-86-73
Hos16pbcek (3496)41 -32-12
OMck  (3812)21-46-40

Open (4862)44-53-42
OpeHbypr (3532)37-68-04
MeHsa (8412)22-31-16
MeTpo3aBoack (8142)55-98-37
Mcko. (8112)59-10-37

Poccusi (495)268-04-70

https://kompass.nt-rt.ru || kaf@nt-rt.ru

CapaHck (8342)22-96-24
CaHkT-lNeTepbypr (812)309-46-40
CapatoB (845)249-38-78
CeBacTtononb (8692)22-31-93
Cumdreponone (3652)67-13-56
CwMmoneHck (4812)29-41-54
Coun (862)225-72-31
CraBpononb (8652)20-65-13
ChbIKTbIBKap (8212)25-95-17
CypryT (3462)77-98-35
Tam60B (4752)50-40-97

KasaxctaH (772)734-952-31

TiomeHb (3452)66-21-18
YnaH-Ypa3 (3012)59-97-51
YnbsAHoBCK (8422)24-23-59
Ycha (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapbl (8352)28-53-07
YenabuHck (351)202-03-61
Yepenosey, (8202)49-02-64
Yura (3022)38-34-83

SAkyTck (4112)23-90-97
Apocnaenb (4852)69-52-93


https://kompass.nt-rt.ru
mailto:kaf@nt-rt.ru

